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Mental sums |

Section A ( 8x2 marks )

For each-question, choose the correct: ansqver ana-write: lts number: -
in the brackets pro\nded :

1. The digit 1in 4187 stands for

{1 1
(3) 100

2. The height of the school flag pole is about .

(1) 6cm

@ 6m

3.  35¢ +140¢ =

(1) $1.35

(3) $4.90
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(2

10

1000

$1.75
$175

60 om



A | Which clock face shows 2-“9“5 after 4 o'clock? -

s @) (4)
5. ~ -Aneraser 6qsts 50¢. A mléf C&éfs':fwicé as much as the
© -eraser. : i '
How much do the eraser and the ruler cost ? :
(1) $1.00 - {2) $150 ¢
(3) $100 (4) $150 ¢ )

6.  David had 24 marbles. He put 4 marbles in each bag.
How many bags did he use?

(1) 6 @ 2

(3) 28 | (4) 96
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Tan Hui Min
Text Box
How much do the eraser and the ruler cost ?

Tan Hui Min
Line


Li Qing has 10 sweets. Bala has 5 times as many. sweets

7.
as Li Qing. How many sweets does Bala have?
(3) 15 @ 0 ¢
Minah has 80 stamps. Betty has 7 stamps fewer than Minah.
John has 21 stamps - more than Minah. How many stamps do
Betty and John have altogether’? | - .
-"_(1_) 132 (@ 167
(3) 174 | (4) 254 e
9. Refer to Booklet K.
10.  Refer to Booklet K.
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SectionB (17 x 2 marks} =

: _Wri__tg-f-the.-.correct answers in the space provided:

Rt

14.

15.

" Write 243 inwords. -

Write 4 hundreds, 0 tens and 6 ones in numerals.

4'__=_ - 5:’4

Arrange these numbers from the srﬁa!le::stfto:..the._biggest.

601 106 610 160

A bird has 2 legs. How many legs do © birds have?

3gs
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~16.  Measure the line below.

[
-

-, cm

7. Look at the diagrams below . andfill ;i_n*;th'e'-‘_:blahks'._'__' -.

18.  $1.00-3% $0.30.
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19. '_Shéde the longest snake. ..

'20.  What is the mass of the applé_b‘e[d@?

[\ |

-

21.  Devi has 36 stalks of flowers. She'put's*them equally into 4 vases.
How many stalks of flowers are there in each vase?

gtalks
-

76
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Answer questions 22 and 23 using the following information beiow.

Father - Bobby Mother

. The mass.of Father is 90 kg. His mass is 10 times as much as .

Bobby’s mass. - Mother weighs 36 kg lighter than Father.

22 What is Bobby's mass?

kg

23. What is the total mass of the 3 of them?

kg



24.  Look at the diagrams below.

The mass of each |

25, Study the diagrams below carefully.

10 2 47

28

40

5 11 8

What is the missing number?
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12

kg

28

'0.

60

17

Ve



26 I think of two numbers. They add up t6 13. The difference
-~ between the two numbers is 7.- What is the smaller number?

27. Marcus -bﬁ-ught=a; p.en'LforiSO.-SO;:.:-:--He:-:pa'idi the cashier$5and got -
back 10 coins as.change.. Shade the 10 coins below to show the
change he got back.. ' . .

28. Mental sums
29. Mental sums
30. Mental sums
31. Referto Buﬁklet K.
32, Refer to Booklet K.
| 33. Refer to Booklet K.
34. Refer to Booklet Kil
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'Work out the problem sums below... Ail workmg, statements and
answers must be clearly shown.

35 oM Lim. so!d 637 shirts i May and June. Hesold 428 shirts:in’
o June. How many_shlrt_s did he selt:in May?
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36.  There were 575 peoplé ata 'stOry?teI!irig"" conteston Sunday.
213 men and 156 children were present at the contest.
How many women were present at the contest? '
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. 37. 3 boys and 2 girls sha

- will, each chlld get'?

MA/ P21 CA {2007

re 40 sweets equal,ly__
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How many sweets



38.  Fredis 150 cm tall. Paul is 23 om taller
as tall as Fred What is the total he;ght

_MA/P27CA/ 2007 Page 13 of 15

than Fred Jun Xlang is
of the 3 boys‘? ’

£a
oty



' 36. Abook costs $15.° A pen'cif;-case'fcostsﬁ$3_-.!es'srthari the book.
~ How much do [ pay for a pencil case and two books altogether? -
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40.

41,

42.

Setby
Vetied by

 MA/P2/CA 2007

Two identical containers A and B contam;
water are shown below.

ing different amounts of

13 kg
_Contamer A

8 kg
Contamer B

. ContainerA is completely filled w:th water.

- ContainerB is. halffilled with water.
What is the mass of an empty container?

Refer to Bonklet K.
Refer to Bookiet K.

" End of this Bookiet

Ms Myyher Lim
P2 Maths Committee Teachers
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Tan Hui Min
Text Box
2

Tan Hui Min
Text Box
1

Tan Hui Min
Text Box
3

Tan Hui Min
Text Box
Two hundred and forty-three

Tan Hui Min
Text Box
106, 160, 601, 610

Tan Hui Min
Text Box
18 legs

Tan Hui Min
Text Box
110g


des 5 =

40 divi

- :_39)pencil ca
Book 3§ $15

1%
~ The pencil case cost $12°
. 15+15+12=42 : |

I will pay $42 for a pencil and two books. :

40)13-8=5
8-5=3 _
An empty container is 3 kg.

A e


Tan Hui Min
Text Box
40  divides  5  =  8, each child will get 8 sweets.




